do/dp’ et [pb/GeV]

Ratio to ATLAS

13000 GeV pp Z+Jet

T

I | I I I | == w

C

O]

10t — Jet P, (p, >30 GeV, ly| <2.5, m> 40 GeV) |z

— Zé

- —HO

- _{™

— _{ Al

L do

—i

L |-

™

2 g

10° —iz
I a

%)

B — ™M

| <

™

107% = 3

— u - o

— —.=

~ 'm ATLAS 1%

- —A— Pythia|6.428:370 —4=

B Pythia |6.428 default = i

—a— Pythia[8.170 default 3

107 =l

| — O

| — O

| | | | | | | | | L =
: T T T | T T T | T |:

2 & —2

1 1

0.5 % —H0.5

0 200 | 400
p‘Tet (leading jet,> 4 jet) [GeV]



	Contents
	Page 1


